Van Wingerden Greenhouses Availability	Week 7		Contact Na	ame:			
	FAX: 360-366-3911 PHONE: 360-366-3906		Customer:				
			Requested Ship Day:				
Minimum Order is \$700 or \$100 shipping cha		3900	Nequested	i Ship Day.			
	•	Unit	Ea Per	Each	Unit	Total	Total
Product Name	Order Quantity	Туре	Unit	Price	Price	Eaches	Price
4" Basic Annuals							
4" Pansy - Assorted		flat	10	\$1.65	\$16.50	0	\$0.00
4" Primroses - Assorted		flat	10	\$1.65	\$16.50	0	\$0.00
4" Primroses - Primlet		flat	10	\$1.65	\$16.50	0	\$0.00
4" Viola Assorted		flat	10	\$1.65	\$16.50	0	\$0.00
Perennials Assorted							
4" Perennial - Gaultheria Wintergreen		flat	10	\$4.10	\$41.00	0	\$0.00
5.5" Perennials Carex Colorgrass Red Rooster		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Heuchera Palace Purple		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Milium effesum		flat	8	\$5.40	\$43.20	0	\$0.00
6.5" Perennial Shrubs and Trees - Picea Glauc	a Alberta Spruce	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Wilma Cypr	· · · ·	flat	6	\$9.25	\$55.50	0	\$0.00
Cacti and Succulents in Ceramics (Concret	e pots also availa	ble) - Ind	loor & Outo	loor			
2.5" Cactus - Assorted in Ceramic		flat	24	\$4.00	\$96.00	0	\$0.00
2.5" Succulent - Assorted in Ceramic		flat	24	\$3.45	\$82.80	0	\$0.00
8" Ceramic Cactus Bowl		single	1	\$19.50	\$19.50	0	\$0.00
8" Ceramic Succulent Bowl		single	1	\$19.50	\$19.50	0	\$0.00
Hanging Baskets & Planters							
12" Color Bowl		single	1	\$11.20	\$11.20	0	\$0.00
Cacti and Succulents							
10" Succulent Bowl		single	1	\$17.00	\$17.00	0	\$0.00
12" Succulent Bowl		single	1	, \$20.60	, \$20.60	0	, \$0.00
16" Succulent Bowl		single	1	\$28.30	\$28.30	0	\$0.00
2.5" Cactus - Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Cactus Assorted 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Succulent - Aloe Aristata		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Succulent - Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Succulent - Crassula Curly Green		flat	32	, \$2.95	\$94.40	0	, \$0.00
2.5" Succulent - Gasteria Flow		flat	32	, \$2.95	\$94.40	0	, \$0.00
2.5" Succulent - Haworthia Limifolia		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Succulent Echeveria Assortment		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Succulent- Assorted 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
4" Cactus - Assorted		flat	10	\$4.50	\$45.00	0	\$0.00
4" Succulent Aloe Aristata		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Assorted		flat	10	\$3.30	\$33.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 7	Contact Name:	
	FAX: 360-366-3911	Customer:	
	PHONE: 360-366-3906	Requested Ship Day:	

## Minimum Order is \$700 or \$100 shipping charge

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
4" Succulent Crassula Curly		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Crassula Ovata - Jade Plant		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Agavoides		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Blue Prince		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Corvus		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Mensa		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Pearl Von Nurnberg		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Pelusida		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Setosa		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Topsy Turvy		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Gasteria Flow		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Haworthia Limifolia		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Peperomia Ferreyrae		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Sedum Coppertone		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent String of Beans		flat	10	\$3.30	\$33.00	0	\$0.00
6" Cuddly Cactus		flat	6	\$10.00	\$60.00	0	\$0.00
Large Tropicals							
12" Tropical Alocasia Portadora		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Anthurium		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Assorted		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dieffenbachia Assorted		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Lemon Lime		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ensete Maurelii - Red Banana		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Elastica Burgundy		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Lyrata Bambino		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Macho Fern		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Majesty Palm - Ravenea rivularis		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Mixed Planter		single	1	\$30.00	\$30.00	0	\$0.00
12" Tropical Sansevieria Zeylanica		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Strelitzia White Bird of Paradise		single	1	\$22.10	\$22.10	0	\$0.00
8" Spathiphyllum Indoor		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Assorted		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Alocasia Portadora		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Alocasia Stingray		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Ensete Maurelii - Red Banana		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Sansevieria Zeylanica		single	1	\$16.50	\$16.50	0	\$0.00

Van Wingerden Greenhouses Availability	Week 7 FAX: 360-366-3911 PHONE: 360-366-3		Contact Na Customer: Requested				
Minimum Order is \$700 or \$100 shipping ch	arge	11	Fo Dov	<b>F</b> a ah	11	Tatal	Tatal
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
Tropical Ferns - Indoor							
2.5" Tropical Fern Assortment		flat	32	\$2.50	\$80.00	0	\$0.00
4" Tropical Fern - Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Autumn		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Button		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Cretan Brake		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Fluffy Ruffles		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Heart		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Sickle		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Tricolor		flat	10	\$3.30	\$33.00	0	\$0.00
6.5" Tropical Fern - Maidenhair		flat	6	\$6.00	\$36.00	0	\$0.00
8" Boston Fern Hanging Basket		single	1	\$10.15	\$10.15	0	\$0.00
Tropical Hanging Baskets							
4" Tropical Assorted Hanging Basket		flat	10	\$5.50	\$55.00	0	\$0.00
8" Tropical Assorted Hanging Basket		single	1	\$15.00	\$15.00	0	\$0.00
Tropicals - Collectors							
2.5" Tropical Philodendron Pink Princess		single	1	\$7.50	\$7.50	0	\$0.00
2.5" Tropical Philodendron Quad Color		single	1	\$7.50	\$7.50	0	\$0.00
2.5" Tropical Philodendron Ring of Fire		single	1	\$7.50	\$7.50	0	\$0.00
2.5" Tropical Philodendron White Wizard		single	1	\$7.50	\$7.50	0	\$0.00
4" Tropical Alocasia Cuprea Red Secret		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Ficus Shivereana Moonshine		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Golden Zebra Fern		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Pink Princess		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Quad Color		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Ring of Fire		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron White Wizard		single	1	\$10.00	\$10.00	0	\$0.00
6.5" Tropical Alpinia Zerumbet Variegata		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Ficus Shivereana Moonshine		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Olea Europaea Olive Tree		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Philodendron Ring of Fire		single	1	\$15.00	\$15.00	0	\$0.00
6" Pachira-Money Tree Braided		single	1	\$15.00	\$15.00	0	\$0.00
8" Tropical Collector Philodendron Ring of F	ire	single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Philodendron White W		single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Zamioculcus Zamifolia		single	1	\$25.00	\$25.00	0	\$0.00

**Tropicals - Premium** 

Van Wingerden Greenhouses Availability	Week 7	Contact Name:	
	FAX: 360-366-3911	Customer:	
	PHONE: 360-366-3906	Requested Ship Day:	

## Minimum Order is \$700 or \$100 shipping charge

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
2.5" Tropical Assortment 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Tropical Foliage Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Tropical Hoya Heart		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Tropical Hypoestes - Polka Dot Plant		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Tropical Syngonium White		flat	32	\$2.95	\$94.40	0	\$0.00
4" Anthurium Indoor Assorted		flat	10	\$5.80	\$58.00	0	\$0.00
4" Anthurium Indoor Red		flat	10	\$5.80	\$58.00	0	\$0.00
4" Tropical Alocasia Dragon Scale		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Dracaena Janet Craig Compacta		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Homalomena Sunshine Gem		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Hypoestes - Polka Dot Plant		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Pachira-Money Tree Stump		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Peperomia Santorini		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Hastatum Grey		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Robusta		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Tradescantia Zebrina		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Zamioculcas Zamiifolia ZZ Plant		flat	10	\$4.30	\$43.00	0	\$0.00
6.5" Tropical Alocasia California		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Alocasia Longiloba		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Alocasia Stingray		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Alocasia Wentii		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Assortment		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Golden Mos	aic	flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Setosa		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Maui Queen		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Roseopicta Medallion		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Rufibarba		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ensete Marelii - Red Banana		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Monstera Deliciosa Tauerii		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Hastatum Grey		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Sansevieria Zeylanica		flat	6	\$7.00	\$42.00	0	\$0.00
Tropicals - Rare							
12" Tropical Zamioculcus Zamifolia ZZ Plant		single	1	\$60.00	\$60.00	0	\$0.00
2.5" Tropical Alocasia Frydek Variegated		single	1	\$20.00	\$20.00	0	\$0.00
2.5" Tropical Monstera Deliciosa Thai Constell	ation	single	1	\$20.00	\$20.00	0	\$0.00
4" Tropical Alocasia Frydek Variegated		single	1	\$30.00	\$30.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 7		Contact N	ame:			
	FAX: 360-366-3911		Customer:				
	PHONE: 360-366-3	3906	Requested Ship Day:				
Minimum Order is \$700 or \$100 shipping ch	arge						
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
4" Tropical Anthurium Veitchii - King Anthui	rium	single	1	\$30.00	\$30.00	0	\$0.00
4" Tropical Monstera Thai Constellation		single	1	\$30.00	\$30.00	0	\$0.00
6.5" Tropical Monstera Thai Constellation		single	1	\$40.00	\$40.00	0	\$0.00
Tropicals with Upgrades - Indoor							
2.5" Tropical in Ceramic		flat	24	\$3.45	\$82.80	0	\$0.00
4" Anthurium - Red in Ceramic		flat	10	\$8.10	\$81.00	0	\$0.00
4" Tropical - Assorted in Ceramic		flat	12	\$6.30	\$75.60	0	\$0.00
4" Tropical - Assorted in Ceramic with Pot S	tand	flat	8	\$8.30	\$66.40	0	\$0.00
4" Tropical Assorted in Rope Pot		case	12	\$6.30	\$75.60	0	\$0.00
4" Tropical Foliage in V-day Ceramic		flat	12	\$6.30	\$75.60	0	\$0.00
6.5" Tropical Assorted in Ceramic		single	1	\$10.50	\$10.50	0	\$0.00
6.5" Tropical Assorted in Tin		single	1	\$10.50	\$10.50	0	\$0.00
6.5" Tropical Foliage in Ceramic with Pot Sta	and	flat	3	\$13.00	\$39.00	0	\$0.00
8" Centerpiece Bowl - Tropical		single	1	\$19.50	\$19.50	0	\$0.00
Tropical Basket Centerpiece		single	1	\$18.00	\$18.00	0	\$0.00